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1. Find the equation of a line passing through the the points (-2,-3)
and (-4, -8). _

2. If Ax+By+C=0 is the general equation of a line then find the
slope, x~ intercept and y- intercept of the line.

Q:1{A) | Define the derivative of the function f(x) and explain the rules of | 06
* | derivatives.
Q:1(B) | Find the derivatives of the following functions. 09
1. v= x+f logx +1]
2. y=(22% %) 3+ 4) (x +6)
OR
Q:1(A) | Using the definition of derivative find the derivative of f(x) = x3 06
Q:1{(B) Obtain the maximum and minimum values of y = XB- o 24x + 2. 09
Q:2(A) | Define and explain the Permutations with formulae and illustration. 06
(Q.2(B). | Find the value of n.
- - 09
L. 314%..(.271“)[’3 2 ,ll.nP3 = 6.(n+.2)%
bR, |
Q:2(A) | Define and explain the meaning of Combination with formulae and | 06
illustration, ‘
Q:2( B) | Find the value of n.
09
h, M an .
L. H =¥ 2, ¢ = 11"¢
(2:3(A) | Define the distance between two points and slope of a line with proper | 06
formulas.
Q:3(B) i Solve the following examples. 09

47 (P7-0.




OR

Q:3(A) Obtain the equation of a line with slope m and making intercept con Y- | 06
axis. Also find the equation of a line passing through the origin and
having slope 0.5
Q:3(B) | Obtain the equation of the line passing through the point (3,1) and the | 09
point of intersection of 4x+5y+7= 0 and 3x-2y-12=0.
Q:4(A) | Define the following terms. 06
(a) Constraints (b) Objective function © Fea31ble solutlon
(d) Optimal feasible solution.
Q:4(B) | Using the graphical method of solving the L.P.P., maximize the 09
obyj ective function Z= 4x+5y subject to the following constramts
3xt6y £ 210. , 6x+5y g 210, x and ¥ are non- negative.
OR _
Q:4(A) | Explain the assignment problem with proper illustration 06
Q:4(B) | Explain the Hungarian method of solving the assignment problem with 09

proper illustration.
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